
Some people think that everyone has the right to have access to university education, and that the 

government should make it free for all students no matter what financial background they have.  

 

To what extent do you agree or disagree with this opinion? 

 

You could rephrase more: 

university education =tertiary degree 

free = without charge 

financial background =economic situation, financial status, income level 

 

Some people hold the view that every individual should have the right to receive tertiary education, so that it 

should be made free for every student regardless of their financial background. I partly agree with this 

opinion; while I understand that people should have access to university education without paying tuition 

fees, I think that this can become a financial burden on the governments. 

On the one hand, I am convinced that the state should provide all citizens with free undergraduate education 

as they have the right to receive it. It is believedI believe [give your opinion in the first person] that the 

authorities are responsible for the quality of all citizens’ lives [this sentence does not contribute anything] . At 

the same time [same time as what? Better to just write ”also” or “in addition” here], university education 

plays a vital role in enhancing people’s living standards as it enables one to find jobs, avoid poverty, and, 

thustherefore [thus is informal, become a more efficient [not great word choice…better to say “make a 

greater contribution to society] citizen in their society. For these reasons, just as like social benefits and 

welfares [uncountable], tertiary education should be offered to every citizen without them having to pay 

tuition fees. [yes, ok, but I would like to know more about what it has to be free...ideally you could have a 

second point here such as “making it free to avoid it becoming only something for the wealthy which would 

increase the class division in society”] 

 

What you right here in your topic sentence totally contradicts with the previous topic sentence that you 

wrote! This is a terrible mistake to make and leads to a severely lower score for task response. 

On the other hand, I am afraid that a policy to provide free university courses is an inadvisable course of 

action. It should be acknowledged that the provision of free undergraduate education requires an enormous 

amount of budgetmoney. The establishment of a university, for example, demands a great deal of subsidies 

for constructing infrastructure and proper facilities as well as remunerations for highly intellectual lecturers. 

Therefore, making tertiary education free can create significant financial pressures that fall on the shoulders of 

the government, putting it at a risk of suffering from greater economical adversity [better to write “financial 

pressure”. 

  



In conclusion, I partly share the opinion that governments should provide all 

students with free university education. Although I understand that there are 

convincing arguments for offering free undergraduate education to all citizens, I 

think such policy can cause the state to incur more financial burdens.  

  



 

 

 Estimated  

Grade 

 

Task 

Response 

3-4 250 -320 words 

 

all part of the topic are responded to well 

 

all parts of the question are responded to well 

 

main ideas are clear 

 

explanation/examples of main ideas are clear 

 

The three main Types of essays 

Cohesion 

and 

Coherence 

6-7 good overall structure 

 

the first paragraph clearly introduces the essay 

It is not clear what your opinion is. 

topic sentences introduce paragraphs well 

 

paragraphs focus on a single idea 

 

logical paragraph development 

 

linking phrases are used well 

 

Structures for the The three main Types of essays 

 

Linking words 

 

http://www.ieltsanswers.com/ielts-writing-types-essays.html
http://www.ieltsanswers.com/ielts-writing-types-essays.html
http://www.ieltsanswers.com/ielts-linking-words.html


Vocabulary 7 appropriate word choices 

and, thustherefore [thus is informal, become a more efficient [not great 

word choice…better to say “make a greater contribution to society] citizen 

in their society. For these reasons, just as like social benefits 

[uncountable], 

economical adversity [better to write “financial pressure”. 

A budget is a plan to spend money 

provision of free undergraduate education requires an enormous amount 

of budgetmoney



control of word endings/forms 

and welfares 

repetition is avoided 

Try to rephrase key words in the introduction more 

spelling is correct 

 

vocabulary includes high level language 

 

http://www.ieltsanswers.com/writing-vocabulary.html 

 

Grammar 7 articles (a, an, the)  

 

sentence structures are correct 

Some people hold the view that every individual should have the right to 

receive tertiary education, so that it should be made free for every 

student 

a variety of sentence structures are used 

 

punctuation is correct 

 

http://www.ieltsanswers.com/grammar-ielts.html 

  

http://www.ieltsanswers.com/writing-vocabulary.html
http://www.ieltsanswers.com/grammar-ielts.html


Overall 5 You need to prevent this kind of disaster happening in your real exam. You need to 

understand that you have not presented a clear opinion and in fact you contradicted your 

opinion in the topic sentences of the two body paragraphs. Given that you consistently 

have problems with task response I believe you should take a safer option and just totally 

agree or totally disagree. Only select the option of partly agreeing if you cannot think of 

more than one reason to agree. If you have two reasons to agree then you can just say 

you totally agree.  

You should also review some of the errors I have pointed out with vocabulary. You seem 

weaker talking about finance than other topics. 

  


